L=920m

H16 | H19 972 o e 206 117 89
L=1,220m

He | H19 1,496 e 793 106| 87

H14 | H19 1,450 L=1,270m 455 274| 84

W=6.0 11.5 m
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25

6,924

L=13,000
W=6.0(9.0)m

440

221
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L=280m

H12 | H19 100 s 80.0 01| 76
Hiz | 28 300 U 287 135| 68
i | H28 300 e 27.0 250 66
Hi2 | H28 143 L=420m 49.7 137 61

W=6.0 7.5 m




L=2,500

5 | 19| 2386 Vo530 %66 | 329 88
14| 27| 1330 W-5.562(27.O)m 335 329 88
o | 19| 1333 W6.0(16.0)m 926 1.80 86
0| 20| 1070 V68080 944 1.05 79
3 | 19 550 6015 795 090 72
6| 25| 2010 W6.0(L6.0)m 636 111 66
15| 25| 1339 WB.5(145)m 30 102 64
5 | A28 1 328 V6002 5)m 619 116 64
12| 23 300 =800 190 112 63

W=6.0(9.0)m




L=620

10 0| 22 303 Wl 0©0m 257 121 62| 10
11 13| 24 575 50015 301 1.08 62| 11
12 4| 2 780 Wb 000 813 | 056 61| 12
13 15 | M8 1 2100 6000 110 119 s| 13
14 3| 2 590 V60015 820 1.30 56| 14
15 8 | 23| 1425 565 737 380 s6| 15
16 12| 23 350 Wb5(3.0)m 306 103 54| 16
17 13| 25 550 5000 47 118 s2| 17
18 12| 24 550 Va0 169 116 52| 18
19 1| 2 208 =217 255 115 51 19

W=5.5(9.5)m
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L=1,160

13| 25 645 Wetstr O 78 111 83
1m| 2 220 A, 395 182 69
o | 24| 1300 600120 59.2 119 69
15| 25 800 AT 55 169 68
14| 23 350 60000 183 107 67
0| 24 550 Wee0(L40)m 73 132 64
11| 25 850 i 173 131 61
12| 23 380 W6 0(L0.0)m 368 1.10 60
13| 23 374 L~1,130 144 1.90 60

W=5.5(7.0)m




L=1,452

10 12| 24| 130 V6060 678 | 101 60| 10
11 0 | "8 3730 Wetem O 75 | 124 60| 11
12 12| 23 900 W00 17 1.84 59| 12
13 11 | M8 1 3000 5120 72 2.30 571 13
14 15 | 22 120 Wb 000 108 | 240 56| 14
15 o | "8 ] 1950 WE0(25)m 186 1.04 s6| 15
16 13 | M8 670 Wb 0L S 200 | 140 56| 16
17 12| 24 500 W6.0(10.0)m 192 1.20 sa| 17
18 12| 24 680 L=1.030 237 1.09 54| 18

W=6.0(9.0)m




L=900

19 14| 23 280 Wb.0(L6.0)m 29 | 187 54| 19
20 13| 24 500 WB0(05)m 40 175 s3| 20
21 1| 23 450 Wt 505 17 | 286 53| 21
22 10| 26 850 WE5165)m 111 111 s2| 22
23 0| 26 900 W606.0m 26 | 108 51| 23
24 14| 23 210 Wb0(L15)m 110 121 s1| 24
25 13| 23 360 W6.0(L0.0)m 14 | 134 51| 25
26 o | 23 303 WB0(LL5)m 238 161 so| 26
27 10| 23 311 V55070 132 112 so| 27
28 11| 23 480 60010 225 114 so| 28
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L=2,000

29 0| 23 900 Wees o 5.7 171 50| 29
30 o | 25 700 WE0(L5)m 203 158 a9l 30
31 12| 24 458 W6.0(L6.0)m 46 157 a8 31
32 13 | M2 1 1030 eSO 129 1.04 8| 32
33 13| 23 230 W6000m 22 112 a8 33
34 o | 22 576 65120 9438 1.35 a7l a4
35 7| 2 502 W6 0020 382 102 a7 3
36 12| 24 600 waBom 17.0 115 a7l 36
37 13| 23 500 Wb0(LLE)M 28 1.89 a1l a7
38 7| 22 340 L=o40 535 1.09 15| 38

W=5.5(9.0)m




L=224

39 12| 23 240 W-5.5(70)m 25 1.07 44| 39
L=1.875

40 10| 25 840 16.0 1.10 43| 40

W=6.0(11.5)m

L=195.7

41 13| 22 111 W-600125)m 9.9 148 43 a1
L=2,000

42 9 23 890 W=6.0(9.0)m 245 1.03 40| 42
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L=1,200

1 15| 19| 242 V65030 713 | 174 88| 1
2 o | 20| 2584 o505 86.6 150 83| 2
3 o | 20| 180 W02 5m 806 | 117 81l 3
4 8 | 20 831 015 724 217 8l 4
5 10| 19 288 Wb 5.0 281 102 7 5
6 11| 23| 1800 o520 150 150 3 6
7 14| 26| 570 V0L S 62 | 127 7| 7
8 15| 22| 1200 WeB5(L20)m 467 356 7l s
9 o | 23| 1538 Vb5 5m 83 | 223 761
10 11| 22| 1200 Wes(20m 108 283 60| 10
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L=1,120

11 6 | 20| 190 V65160 764 | 350 69| 11
12 12| 23| 9208 015 305 1.40 68| 12
13 o | 27| 1500 V60060 383 | 185 68| 13
14 5 | 25| 4200 W60(25)m 4756 073 67 14
15 u| 2 800 W6 530 250 | 274 67| 15
16 1| 20| 129 Weo30m 447 219 67| 16
17 2| 2 888 V60015 623 1.96 67| 17
18 14| 22| 1400 6015 46.1 103 66| 18
19 11| 22| 1310 WeB20m 162 107 66| 19
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L=2,100

20 11 24 4,622 W=13.0(24.5)m 714 111 66 20
L=2,200

21 11 22 1,000 W=6.0(11.5)m 13.0 1.30 64 21
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L=314m
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L=640m

18.6
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L=481m

1 H15 | H22 1500l _jger o wmsomxe) | 22 98 | 1
L=600m
2 H17 | H19 354|  =25m 28 98 | 2
L=600m
L=1.000m
3 H17 | H20 3771 =25m 23 98 | 3
L=1,100m
L=600m
4 H14 | H19 40|  =35m 69 98 | 4
L=600m
L[=266m
5 H10 | H20 610 =125m  w=35m), 56 8 | 5
6 H17 | H19 80| ., L=o00m 35 98 | 6
-11.5m
[=564m
7 H17 | H19 360|  =35m 22 98 | 7
L=564m
L=1,100m
8 H17 | H20 1370 iy wezsxemy | 7 98 | 8
[=1.150m
9 H17 | H20 52|  =25m 15 98 | o
L=1150m
L=540m
10 H7 | H20 2471 oom s we25m) 8 98 | 10
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L=800m

11 H15 | H20 640 -11.5m w=2.5m) 59 98 11
L=800m

12 H14 | H21 600 -115m w=2.5m) 5 94 12
L=3,200m

13 H17 | H23 1,344 -11.25m w=2.5m) 7 90 13
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(X H17 | H19 480 L=2,800m 6.3 97
280
(X H17 | H19 300 L=2,400m 16.7 97
(280 H17 | H21 800 L=440m 6.3 93
339

H16 | H21 1,600 L=1,933m 6.3 92
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H17 | H19 300 L=2,600m 33.3 93
H16 | H20 300 L=2,900m 243 92
H16 | H20 1,015 L=1,730m 318 92
H14 | H19 314 L=2,200m 478 88
H16 | H19 210 L=2,050m 51.9 87




L=170m

H17 | H19 170 L=310 12 93
L=250m

H16 | H19 354 L=500 34 89
L=1,300m

H17 | H20 650 L=1300 4 89
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H14 | H20 842 64.4 84
H15 | H21 900 42.9 78
H14 | H21 950 575 64
H15 | H21 725 37.2 64
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